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d?0 /dAgdAy in pb for gap events satisfying 4 < Ay < 5

106 E—\ T T T ‘ T T T T ‘ T T T T ‘ T T T T ‘ T T T :

= —+4— Data 3

L —e—]

105 —+— Analysis_AlaricF¥=1em

& —+— Analysis_ATaric.FI_1ent

L —+— Analysis—A IF_1ent]

ot e nalysis_Alaric II_1ems

= ! ; E

10% = ‘ E

107 = E

E | | | | ‘ | | | | ‘ | | | | | | | | ‘ | | | | E

E l l l l ‘ l l l l ‘ l l l l l l l l ‘ l l l l =

13 5 =

1.2 - 3

L e | |

0.9 £ | |HRE

85 = =

L ET ! E

8:% ?\ | | | i | | | | i | | [ [ ‘ [ [ | I\ ‘ | P—H—I \é
0.5 0.6 0.7 0.8 0.9



